Physics 11 Unit Test – Energy and Society
KNOWLEDGE








20 Marks
1. __________ is the process of transferring energy from one of its many forms to another.

a. Matter

b. Power

c. Work

d. None of the above

2. Water at the top of Niagara Falls can be said to have energy that can be used to do work as it “falls”. This is an example of

a. Thermal energy

b. Gravitational potential energy

c. Electric potential energy

d. None of the above

3. If the sum of all the forces acting on a moving object is zero, the object will

a. Slow down and stop

b. Change the direction of its motion

c. Accelerate uniformly

d. Continue moving with constant velocity 

4. As an object falls freely, the kinetic energy of the object

a. Decreases

b. Increases

c. Remains the same

d. Does not matter

5. __________ is the energy that is stored or energy that is not actually in use at the present moment.

a. Kinetic Energy

b. Thermal Energy

c. Radiant Energy

d. None of the above

6. As the object moves from point A to point D across the frictionless surface, the sum of its gravitational potential and kinetic energies 
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a. Decreases, only

b. Decreases and then increases 

c. Increases and then decreases

d. Remains the same.

7. The object will have a minimum gravitational potential energy at

a. Point A

b. Point B

c. Point C

d. Point D

8. The object's kinetic energy at point C is less than its kinetic energy at point

a. Point A only

b. A, D and E

c. B only

d. D and E

9. In Physics, ______________________ is defined as the ability to do work whereas _________________ is the process of transferring energy from one of its many forms to another. 
10. _______________________ is the rate at which work is done. 
11. ___________________ is the energy of motion or the kinetic energy of matter at the atomic and molecular levels.
12. Heat flow from an object of ________________ temperature to an object of _____________ temperature. 

13. Heat is transferred from one point to another by three possible methods: __________________, ____________________, and ________________________.

14. A heat ____________________ is a material that allows heat to transfer easily through it. Whereas a heat _________________, such as wood, doesn’t allow easy heat transfer between its molecules. 

15. ________________________________ is the amount of heat energy that is needed to increase the temperature of 1kg of a particular substance by 1 degree Celsius. 

COMMUNICATION







14 Marks
16. Why does your bare hand feel cold when you grab a metal pole as opposed to a wooden bar, given that both were outside in -20 degree Celsius? 



2 Marks
17. Give two examples in which a force is exerted but NO work is done. 

2 Marks
18. By what factor does the kinetic energy of an object change if its speed is doubled?
1 Mark 
19. Label the following as Kinetic or Potential Energies:



9 Marks
· A car parked at the top of a hill

· A moving car
· A boulder sitting at the top of a mountain
· A river flowing
· Water behind a dam 
· A plane in flight 
· Pressure in an un-opened soda bottle 
· A satellite in orbit
· Compressed spring. 


THINKING / INQUIRY 







20 Marks
20. A 515g granite rock cools from 450 degree Celsius to 100 degree Celsius. The specific heat capacity of granite is 790 J/Kg C. Calculate how much energy is lost by the rock.  

3 Marks
21. A 0.5 kg block of iron at 80 degree Celsius is cooled to removing 22,800J of heat energy. What will be the final temperature of the metal be? (c = 460 J/Kg C)



3 Marks
22. A microwave oven delivers 800W of output power. 
How much time does it take to warm 150g of water from 15 degree Celsius to 100 degree Celsius? (c = 4190 J/Kg C)






4 Marks
23. An insulated cup containing 255g of water at 21.6 degree Celsius is emptied into another insulated cup containing 407g of water at 63.8 degree Celsius. Determine the final temperature of the mixture, assuming that no energy is lost.




  

5 Marks
24. The specific heat capacity of porcelain is 107 J/Kg C. A 164g porcelain cup at 21.2 degree Celsius is filled with 197g of water at 95.3 degree Celsius. Assuming that no energy is lost, determine the final temperature of the cup and water. 



5 Marks
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